|
|
( ) 1,810km2
142km 2
34 2
164km?
45 1/600 1/5500  1/500 1/200 1/400 A-A’
ME€>|€ >| <€ >|
6 4 1,000 I I | |
800 F-- -G T[T -
O e -
40 f--------------->__Sogm T
(H12) ™ [
0 20 40 60 80 100 120 140
(km)
[
(1979 2000)
300
[ ]
250
@200 1679
5150 [ ]
100 1686
50
0 [ ]
123 456 7 89101112
1692 (2000ha )
(mm)
(1971 2000)
HP
(1971 2000) 88%
300
250 10% 2%
,E\ZOO
< 150 o)
100 ;v'
50 ~
0
1234567 8 9101112
o1 o 2 o 3
53 24.2 | 28.4 | 47.4
E | | | | |
2 17.0 | 30.0 | 53.1
E | | | | |
7 [ 10.3 ] 27.9 | 61.8
0%  10%  20%  30%  40%  50%  60%  70%  80%  90%  100%




[ 15 8 ) 9 20
n ( 85%)
[ 43 3
10 10 16 8 16

25 7 ( )

3, 2728 18,183 OkO 1k4

26 10 ( )

120 |, 27315 (16 )

15 5,720m3/s

5,000m3/s
3,300m3/s 1,000m3/s 700m3/s 8,000m*/s
9 9 ( ) 60
8,000m3/s 38,143
60 2929 35,214 P
9 £
6,000m3/s
3,500m3/s 2,000m3/s 500m3/s
20 9 ( )
5,120m3/s
, 77 2,110
23
4.500m3/s 1,000m3/s 500m3/s

28
6,000m3/s
5,000m3/s

3,800m3/s 1,000m3/s 200m3/s
36
3,800m3/s 1,200m3/s

41 3 ( )
6,000m3/s
5,000m3/s (1686 )

3,800m3/s 1,200m3/s 17 (1700 )
47 7 ( ) 29 50 43 3

4,720m3/s 4 8

25 | 1225 | 3,084 (2,000m3/s)

4 2,450m3/s
8,000m3/s )
6,000m3/s

4,000m3/s 2,000m3/s
10 10 ( 10 )
5,720m3/s 3
358 615
16 8 (16 )
760m3/s 9 7

TP.+2.84m( )




8,000m3/s

300
| o B 250 1™ 1/150 257mm/2
E 500 2 268.7mm —
- 4,000 6,000 - 7 C 47) N o
= 150 |
1/150 3
n [9\]
257mm/2 o~ 100 N
3
L : |
, me/s
‘ 1 ‘ m/s
490 0
i <t ™ N n < o o O o N 0 o — <t I~ o ™M o o AN 0 0 i — < ~N O o™ [{e]
<t <t i — i - — N AN N M o m < < < < n w n o — —
5 o o0,
8,000m/s(1/150 )
1/150 8000
5500m3/s 8,200m3/s 7,500m3/s 7000 5, 720775
~6000 | ( 10)
X
= 5000 | _
oos | KRB AN 0 4000
99.33 s R FIR(S3IT-HI6) 150
il - 3000 | \
2000 |
98 50
1000
[0 A 200 0
5500 |/ )/ // /! .
\)’ 'III I | |8’20() i ~ O M O© O NN IO O dH - < ~ O M ©
>-"I | 150 . Mm < T ¥ 1O O 0O © — -
[ 1N 10
| | |
| | \ - 5
N [ 8,000
[ [
| | |
FI8] - %]
" 8,000m*/s
30 | 10,000
9000 8,000m3/s+—8,200m3/s——8,000m3/s
2 8000 =——==Or IIJ——————--;————O-;———-
7,000
17150 T oo é
o 3/ E 5000
5 T———] o won | 5,500m3/s
/ Gumbel | ———| 5,900
5 L Y S SQRTET — 8,200 3,000
=y 4 GEV [ ————[ 6,100 2000
e o/ LP3Rs | ==————] 5,500 1000
T LA s Iwai 6,600 :
= A Ishitaka 6,200 0
o« A | LN3Q | | 6,000
1 / ! LN3PM 6,100 || 37 16 9 9
w0 200 500 000 2000 5000 10000(md/s)




4 000m3/s

6,000m3/s

2,000m3/s

4,000m3/s

000m3/s

2,

500

400

P.m]

ﬁ\

[m]

9K000

[T.P.m]

6,000

m3/s

000°¢

4,000

—

4,000

1
490

2,450

__.fm:u-
A\
N\
\\
-i:/%:
N
uwa ]
/X
g/
— \
I \
Ip \
i Amm,
T

1 000M02
W 00oM6T
W 000X8T
W 000MLT
W 000X9T
W 000MST
W 000MPT
W 000MET
W 000MeT
W 000OMTT

1 000X0T

000X6

w 000X8
w 000ML
w 0009
M 000MS
w 000X
w 000ME
w 000X
w 000MT

1 000M0

rT.r.n1 12K200

o)
=1

et

:l-——-—-r'.ﬂ'.-------"

20  —

0

[n]

400

000MT

000XET

000XCT

000MTT

000M0T

000M6

000X8

000ML

000X9

000MS

000MY

000ME

000Mc

000MT

000X0




(2,000 3/s)

DAL 111

43 3
1,200m3/s)

2.450m3/s

40

2km

1,200m3/s

2,000m3/s

(T.P+1.32m)

( 8km)

=RIKES (m)

3.0 -
m20-30




17400 1/200

1/5,500

174000 1/1000




(77%)

n (BOD75% )

(BOD75% )

18.447m/s
77%)

, T B

4,400m°/  (1%)

89,400m*/
(24%)

208,500m°/
(57%)

66,200m°/
(18%)

ovanup
» )

S
5mg/I|
x‘ PRSLLTS ~ : : :: :
e E
5 < /.\o
.“ 3
{ = N
: S A 2mg/|
3 S 2
- [sa]
-“ [
o:. 1
¥ AA 1mg/||
‘-‘.‘ O | |
K : H9 H10 H11 H12 H13 H14 H15 H16 H17 H18




| 6 10 9 30 26m3/s 10 1 9
13m3/s
1.10m3/s
5
9 9 3 [LE axﬂfm
28
88
1.05m3/s
50%
R — 6/10 9/30
26M3/s 1.10m3/s 23.29m3/s 1.55m3/s

29 (n’/s) [— — ° A °

40
24m3/s 12m3/s n !
58 35 \

30 | 0

4 ; t

26m3/s 25 ¢ T
13m3/s o \ f
15 |
o | bopty ! VoI
5t T \ [ O
: N ¥ o
40 0 — ‘ ‘
5K 10K 15K 20K
40 17 41 4/41 10.81m3/s




2 I 2 — —e e
NI N ! |s43 s53]| Y Li [s62 H7]
L n /—s o ‘IJ_-‘JJ‘ ‘ ‘ 0 \—\_.._..—\}.\_..-—_.._..--- e L T | e | [ | _\_._\-_..---i_‘r“\i-\-\\ - o | I
0 - e N (T 1 LR TN e N o BB B ™ Ny | INEN u n " N
-1 N~ 1 = I
-2 WS62 H7
-2 B47.7 { : 547 1 s Llﬁ_,_,_,_,_,_J j | SHO[ HB ( ) —
3 B }
0 1 2 3 4 5 6 7 8 9 10 1 12 : 13 14 15 16 17 a8 ol L ) 2 : . s 6 ; o . 1 u 1 W
| km
2
T 2 T
2. mss3 W7 | } ! S53 H7 | S ! ! H7 H11
0 e I I P N B B0~ s GRS INTAE O W Y P B O I Y S S B S L I N N N B B 070 R 1 P 1 I 1 O IS [N X RO I PP o 0 v e e
N [ S 7 " - | - e - = i | A—F - -
) $54.10 S55. H7|7 1 H mer oma 1 | |
- T -2 t
[}
0 1 2 3 4 5 6 7 8 9 10 11 12I 13 14 15 16 17 é'g“) Ol 1 2 3 |4 5 s 7 s 9 10 1" 12 (J‘.(3|P
1 1
2 2
e . [T e | [H7 H16 | . : |H11 Hie]l
0 o T e o s o = ot i L e e 0 ’- e i o - e I ’I\ L -
aF | |
: H1p.10 ( | -1 , WHL H6 ] ‘
-2 -
0 1 2 3 4 5 6 7 8 9 10 11 12 ! 13 14 15 16 17 ]&m) 2 * !
0 1 2 3 4 5 6 7 8 9 10 11 12 (]&?n)
69%
| 4k400 | r 40 60
A0
{T.P.m)
1w
—
5 {J\_f\ o HWL 387 — FRIEE 1000 B !
%__ e QI:;:;: = | 2,000 LIJ O 0
0 = )
_ EHEIEE 100 o /\| A=, =
- ——— i N 1,500 H —= 1,000
53 FRRMIEE ol / N7 e < o
-10 T 1 ~ = o
0 200 w0 500 800 1000m g ¥ i ~1,000 | 1 2,000 &

69
—0—542 Il
—— FRIGEE 1 V4 ! s
| 15k600 | RIS == : i —e—s42 500 3,000
. TRIER t ’
" 25+ FBH#I63EE BE 0.1 he
—>—H8

BRI T g 0 g BT, S [ R O
—o—H8 H ,
10 \ IR t ‘ ‘ ‘ — SA0 S44 S48 S52 S56 S60 HL H5 H9  HI3 HL7
0.01 ‘ . N
154 LI 0 2 4 6 8 10 12 14 16 18 20
(km)
10+ e
5 1000 — 53%
53 |
0 T T T T T 1 1
] 200 400 600 800 1000 1200m 100
! 5,000 0 FREIGER
4 TR
| 10k200 | \ isindon
o —— FRRIGEE w0 , 4,000 + 2,000 N EGITIE
= 35N
10 FRRIFEE £ -+ FSIEE
Z H.W.L 7.03 FERETER . ! 408,000 | 5 4,000 2 [I.P.g] 0k000 B4
5 BRFIB24E j o T
; == / [~ 1 2,000 Ao 6,000
’ [——] ’
o 0.1 L \ —o—Hg = [——]
= —%—H8 H= 1,000 8,000
= k) \aad N k)
" \l» —o—Hs ] —_—
-5 T T T 1 0.01 ‘ ‘ ‘ 1 J] J-l
0 100 200 300 400m 0 2 4 6 8 10 12 14 ol e o e d] 10,000

(km) S40 S44 S48 S52 S56 S60 H1  H5  H9  HI3 H17




